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i KHome % I Visiting @ i (10) * g IMP pEVP = 8 VP TR L RID:1 ~7 &% RIO : 8 ~ 14 2%
* B | 54 . ;3 |1 %4 R ind | BBV il BV AR TRV AT BBV #% | BR [; 34 AVP COP | # % | Ff%C [} 34 AVP CoP
1] 1 HE 1 Ch;;;zgge 10 28 | 9 |15.75 |4.25 126060 | 7596 |2 |13 |1 |13 B 149.90 g8 | 8 Ui 99.07
2|2 A 13 PN 10 12 | 4 [232 |17.68 | 84.11 [149.90 |11 [1 |2 |1 BE 126.60 9 |5 Woods 90.05
3|3 Oceans 6 Ef 10 28 | 33 |8.15 [11.85 | 117.77 | 99.87 |4 | 6 |3 |14 | Catchall |120.35 10 |9 | A¥cisEi%E | 85.56
4|5 Woods 8 s 10 20 | 29 | 6.8 [13.14 | 90.05 | 99.07 |9 [8 |4 |3 Oceans 117.77 1 |2 n 84.11
5 7 Cyclops 10 Dragonite 10 26 34 7.17 |12.83 99.17 78.60 7 112 |5 |12 A 104.67 12 | 10 Dragonite 78.60
6 | 9 | AvimEnE || 12 FLA 10 6 | 22 | 4.95 |15.05 | 85.56 |104.67 |10 | 5 |6 | 6 B ] 99.87 13| 11 Ch;;(li:;ge 75.96
7| 4 e 14 | Catchall |10 7 | 42 | 1.42 |18.58 | 68.32 |120.35 |14 | 3 |7 |7 | Cyclops 99.17 14 |4 e 68.32




